2GR TH RTE Y

© 20250527 WRRP All rights reserved.
& ==
—  FEEE

AV SREMARIAE  BeLRIEREMEER S MRAEEERTASE -
ERRFEZBTERERMGI LN NEBER - LRERGBIRIER - FEZE -
MEZRISBFNERPELTHARRE - BERBEEALT - BHRBARRE -
MBEMER - FEXRATAL www.wrrp.com.tw

Z - HEERE
FIRR
i T1-150 T2-250
Hartford E39150 MINIZS
KYMCO fitHE150 KTR150 NSR150
= - {EFRAA
FEiEmFotEE N
AL 17.9 mm

— #FE 40 mm

- AR A
IS M SIEE M6 X 16 B iR iR#4*8

M6 X 12 *ER/NAR#4*4




(3271 E39150 MINIZY 2

Y8441 T1-150 T2-250 EH

™=l

PP 2¢

EHEMAREMG

[317%] EE#E150 KTR150 NSR150 £F
(RIX A0

A -

el 0 2

&

L

4
8

(G
1

=

i

i

/\%

FRER
=
=
M6 X 12 FEIA7 AR 44
M6 X 16 BE AN A4

k=
83
“++
0N

#
3

3

i
1
2

a
/N




